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Name:  ____________________________
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Test:  (2020) Primary 5 Maths (Term 3) - Nanyang

Points:  11 points

Score: ____________

Select multiple choice answers with a cross or tick:

  Only select one answer

  Can select multiple answers
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Question 5 of 11

A sack contained 13kg 90g or sugar 



a) Express the amount of sugar in the sack in grams 

Question 6 of 11

b) After packing some of the sugar in the sack into 45 equal packets, there was 560g of
sugar left in the sack. What was the mass of sugar in each packet? 

Give your answer in kilograms.
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Question 8 of 11

b) How much water did Mr Tan's family use from August to October?

Question 9 of 11

c) The total amount of water used by Mr Tan's family in November and December was
1600.5l more than the amount of water used in July. 



Write down one possible set of values for the amount of water used in November and
December.
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Question 11 of 11

b) Mr Raja filled 2 identical large bottles and 5 identical small bottles to the brim with half of
the water from the tank. He then filled 1 such large bottle and 7 such small bottles to the
brim with the remaining amount of water in the tank. What was the total capacity of 1 such
large bottle and 1 such small bottle?


